Directions for questions 1 fo 200

In the following Twenty guestions, some parts of the
sentences have emors and some are correct, Find out
which part of a sentance hasg an error and blacken the
circle [#] corresponding to the approprate correct
option. If a sentence is free from errors, blacken the
circle corresponding to Mo error’ in the Answer
Sheet

1.

3.

He looked upon me eye to eye for a few
momanis before he spoke,

(&) before he spoke.

{B) Mo error

() eyetoeye for a few moments

(D) He looked upon me

Solution:

The emor is in (D). Looked upon me' is
grammatically incommect and should be changed
o look at me. To look upon someone means to
considar something or someone for something
‘Looking upon eye to eye' is grammatically
incomeact Choice ()

Until you are in the habit of putting off things you
cannot ensure yourself of a good future,

(A) you cannot ensure yourself of a good future
(B) the habit of putfing off things

{C) Until you are in

{D) Mo error

Solution:

The use of the preposition ‘of* after yourseif is
incormmect. The sentence does not require a
preposition, Chaoice (A)

| meant to repair the radio but hadn't time to do it
today.

(&) but hadn't ime

(B) Noerror

{C) todo it today.

{C) | meant to repair the radio

Solution:

The error is in *hadn't’, It showd be changed to
‘had no'. Mo time would mean that person &d not
have time as the person could be busy with
something else. Mot time would mean something
besides time. Cholce (&)

This book is different than that.
(A) This book

(B) Is different

{C) Mo error

() than that

Solution:
The use of than that is incorrect and should be
changed to from that. GChoice (D)

5. The doclor asked his patient to regulady take his

medicine

{A) The doctor

(B) Mo error

{G) asked his patient

{0 to regulady take his medicine,

Solution:
The sentence showd be changed to “The doctor

asked the patient to take his medicine regulary.”
The time frame should be moved to the end and

the activity should be moved immediately after
the verb, Choice (D)

Do you think you coud lend me good pair of
gloves o wear to the wedding?

{A) Do yol think you could lend me

(B) Moerror

{5 good pair of gloves

(I to wear to the wedding?

Solution:
The sentence requires an aricle before ‘good
pair, Hence, the arroris in (C). Choice (G)

| forbid you not to go there again.
{A) there again (B) nottogo
{G) Noerror (2 | forbid you

Solution:

The sentence should be changed to | forbid you
from going there again”. The sentence requires
the use of the pariciple form of the verb not the
to + infinitive form. Choice (B)

In twenty wrecks five lives were fortunately |lost.
{A) Intwenty wrecks  (B) five lives were
{C) Mo error (D fortunately |ost

Solution:

The sentence mentions lives were fortunately
lost'. This is incorrect as the loss of lives is not a
fortunate but an unfortunate matter. Choice ()

Please note: The sentence menfions twenty
wreclks, This is incormect as wreckage cant be
counted. This could also be a possible arror

Oid you hear many news about the political

situation while you were in that country?

{A) Did you hear

(B} many news

{C) Mo error

(D) about the political situation while you were In
that country?

Solution:

The sentence incorrecty uses ‘many news

instead of ‘any news. As news cannot be

counted, it is incorrect to use many before it
Chaice (B)



10.

11.

12.

13.

14.

| was corvinced that the only thing | wanted to do
ever, is to write novels.

(A) the only thing | wanted to do

(B} | was convinced that

{C) ever, is to write novels

(D) Mo arror

Solution:

The sentence uses the past tense forms In
‘comvinced' and ‘wanted". Hence, the last part of
the sentence should also be in the past fense
'...ever, is lo..." should be changed lo "._ ever, was
to...". Chaoice (C)

The heavy-weight fighter was knocking out in one
punch,

(A) Mo error

{B} The heavy-weight fighter

{C) was knocking out

(N in one punch.

Solution:

The orginal sentence means that the heavy-
weight fighter was knoclking someone out in one
punch, As the someong is nof menticned, the
sentence becomes incormect However, if the
sentence is changed to “The heawvy-welght fighter
was knocked oul In one punch®, it would be
sensible as i would mean that fighter was
punched. This woud make the sentence
grammatically comect Choica (C)

There be a long gueve for eniry into the
exhibition ground,

(&) Mo error

(B} the exhibition ground,

{C) There be a long queus

(D) for entry into

Solution:

The use of there be is incorrect and should be
changed to there was or there is. "Be' helps in
showing the time reference and hence should be
changed to either There would be* or ‘there has
baan’ Chaoice (G)

Riches are uncerlain things, and the fame that
power give or s won by foul means is as
shortlived as the dewdrop

[A) Mo ermor

(B} Riches are uncertain things, and the fame

{C) that power glve or is won by foul means

{) Is as shorllived as the dewdrop.

Solution:
‘Power' here is singular and hence it should be
followed by a singular verb. 'Power give' should

be changed to ‘power gives'. Choice (C)
The results of the survey were faldy
disappointing.

(A The results

(B} fairly disappainting.
{C) Mo error

(D) of the survey were

15.

16.

17.

18.

Solution:

The error is In fairly disappointing” which should
be changed to rather disappointing’ as it helps in
showing an undesired result. Rather is used to
show ancther side of the argument, as in this
CASE, Chaice (B)

The aricle suggests that when a person is undear

unusual stress you should be especially careful to

eat a well-balanced diet.

{&) The aricle suggests that when & person Is
under unusual stress

(B} to eat a well-balanced diet,

{C) Mo error

{0} you should be especlally careful

Solution:
The article refers to the reader as 'a person’ that
is when one is. This means that the following

pronouns  should also be in one  format
“...unusual stress, one shouwd be...” is the correct
replacement. Cheice (D)

Some members of the commitiee were opposed

to use the cdub members’ money to redecorate

the meeting hall,

{A) Some members of the committes

{B) Noearror

{C) were opposed o use

{0} the club members’ money to redecorate the
meaeating hall,

Solution:
The sentence requires the pariciple form of the
verb and hence the ‘were opposed fo use' should
be changed to ‘were opposed to Using”.

Chaoice (G)

Thanks to an insight and persistence of the local

doctor, hundreds of wiclims have been able to

resume narmal life,

(A} Mo error

(B} Thanks to an insight

{C) hundreds of viclims have been able to
resume normail life.

() and persistence of the local doctor,

Solution:

The use of an insight is incomact as it is not a
courtable or uncourntable noun, It is an abstract
noun and would use the before it. Hence, the
sentence should be changed to “Thanks to the
insight”. Choice (B)

We received much help from the neighbours.
{A) from the neighbours

(B) muech help

{C) We received

{D) Mo error

Solution:

The use of 'much help’ Is incorrect and should be
changed to ‘a ot of help'. ‘A lof of is used to refer
to something which is present in a large quandity
As help is not countable it cannct use the much
form. Choice (B)



19, Let us vie to one ancther in doing good,

(A) Mo error (B} Let usvie
{C) to one another (D) in doing good.
Solution:

The sentence requires a ‘with' after vie and not
lo. Vie means to compele and hence, the
sentence means that people should compete with
one another in doing good. Chuoice (C)

20. As per the invitation card Rahim marries with
Sayra on 137 December, Monday.
(A) Mo error
(B) On 13" December, Monday
{C) As perthe invitation card
(N Rahim marras with Sayra

Solution:
Marries is in the present tense and does not
require with Chaoice (D)

Directions for guestions 27 to 32:

In the following Twelve questions, out of the four
alternafives, choose the one which can be substituted
for the given words/sentences and indicate it by
blackening the approprate circle [ #] in the Answer
Sheet.

21. An error or misprint in printing or writing

(&) axiom (B} erratum
{C) jargon (D) agenda
Solution:

The comect answer is choice (B). Axiom meaans a
self-avident truth that requires no proof. Jargon is
a language or vocabulary that is evident o a
particular truth. Agenda means a lost or plan for a
meating or a discussion Chaice (B)

22, The perod between two reigns

(&) era {B} Interregnum
(C) intermission (D) anachronism
Solution:

The comect answer is choice (B), Era is a fime
period  between two  distinclive  events.
Intermission Is a short interval of time between
the acts of a play or theatre or movie
Anachronism refers to something that is not in the
correct histoncal order, Choice (B)

23. Toowilling to obey other people

(A) subjugate (B) subservient
(C) sublimate (D) subaltern
Solution:

The correct answer is cholce (A). Subservient
and subaltern mean a subordinate, Sublimate
means to refine or punify, Choice {A)

24, A person extremely desirous of money
(A) avarlcious (B) fervent
(C) extravagant (D) miser

Solution:

The correct answer Is (&), Fervent is having or
showlng great warmth. Extravagant is spending
too much money. Misar is one who doesn't spend

alot, Choice (&)
25. To destroy completely

(&) chide (B) annihllate

(C) dawdle (D) bluster

Solution:

The correct answer is (B). Chide means to scaold.
Dawdle means fo waste time. Bluster means to
Foafr, Choice (B)

26. One  who is  known widely but  usually

unfavourable is
(&) notorous (B) famous
() illustrious (D) tarnished

Solution:
The correct answer Is (A). llusticus means
famous. Tarnished 5 maligned. Choice (&)

27. A person who is very selective, disgusted aasily,

andis hard to please,

(&) selector (B) misanthrope
{C) ambiguous (DO} fastdious
Solution:

The correct answer is choice (D), Selector is ong
who selects. Misanthrope is one who hates
mankind. Ambiguous means not cerdain or

confusing. Chaice (D)
28. A person who has had one or more limbs
removed
{A) limber (B) amputee
() fatalist (D) handicap
Solution:

The correct answer |s cholee (B). Limber means

flexible. Fatalist means one who accepls

everything as inevitable, Handicap means a

disadvantage, Choice (B)
. A song sung at the death of a person

(A) Iiturgy (B) elegy

{C) sonnet (0 ode

Solution:

The correct answer is (B). Liturgy means a form
of public worship. Sonnet means a poem. Ode is

a lyrical poem Choice (B)
. Rub or wipe out

{A) remove (B) terminate

(C) efface (D) plunder

Solution:

The comect answer is choice (C), Remove means

to take out. Terminate means 1o bring to an end.
Delete means to remove. Choice (C)



at.

32.

Mo longer in existence or use

(A) obsclete {B) Invincible
(C) delete (D) inefficient
Solution:

The correct answer is choice (A). Invincible
means something or someone that cannct be
conguered or subdusd. Delefe is to remove.
Inefficient Is someone or something that cannot
achieve the desired resuit, Choice (4)

A statement in which you say the same thing
twice in difterent words

&) tautology (B} temerity
{C) repedition (D) tarragon
Solution:

The comect answer is choice (4). Tementy
means recklessness or boldness. Repetifion
means to repeat something, Tarragon is a kind of
plant Choice (&)

Directions for gqueslions 33 lo 52:

In the following Twenty questions, the 1% and the last
part of the sentence/passage are numbered 1 and &,
The rest of the senlence/passage Is split into four
parts and named F, O, F and 5. These tour parls are
nat given in their proper order. Read the sentence
and find out which of the four combinations is comect

and indicate it by blackening the appropriate circle [® |
in the Answer Sheet

a33.

34.

1. Our pleasures should be healthy so that they
can impart a sense of well-being.

This applies very much to the passion for
spors,

Q. Some people become slaves to  an
enthusiasm and regard it as thelr real and
only pleasure in life,

R. Itis guite possible that indulging this passion
is doing them great harm,

5. Modern sporls have become so exaggerated
that they can damage and sometimes
destroy one's health,

& An enthusiasm for violent sports may well dig
an early grave for the parficipant

(&) QPRS (B) QSFR (C) QRPS (D) QRSP

Solution:

The comect choice is (A), Q follows 1. P follows O
as ‘people becoming slaves' in Q is the this® in
sentence F. A follows next as the "this” in R refers
to the Indulgence in P. S follows next as it |s a
reason for why people could die eardy as
mentioned in &. Choice (A)

1. The Pyramids are beautiful enormous
structures.

P. A mummy is the dead body of a human being
to which cils and spices have been applied to
prevent it from decaying.

Q. They are the tombs of the old kings of Egypt
who were called the Pharachs.

R. Thesa mummies were placed inside these
great Pyramids.

5. The bodies of the Pharachs were made into
mummies whan they died

&, Mear them, were placed, gold, silver, food,
furniture and othar things because it was
believed that the mummies might reguire
them after death.

Ay EPRQ (B) QFRS
{C) QSPR 0y QSRP
Solution:

Cholee (C) Is the correct answer. 1 talk about
pyramids, O follows next as it explains what they
are and what they contain. & follows Q as it
mentions what happens to the Pharachs P
explains the process of mummifying a body and
should follow 5. R comes in the end as it
menfions where the mummies are placed. &
concudes as it menfions what was placed cose
fo these mummies Choice (C)

.1. Cne of the gifts of independence is the

awakening of women of our country,

P. Besides, their talent is recognized and they
are appointed to high posts in the Siate

. Free India has seen women as GoOvermors,
Ministers and Ambassadors.

A That is because our government iz making

5

efforts to raise their status
Women have a bright future in independent
Inda.

& We even had a woman Prime Minister.

(&) QPSR (B) QSPR

{C) SPQR 0y SRPCQ

Solution:

The correct answer is cholce (D). S should follow
1 as it confinues fo talk about the independent
India and woman's bright future there, B comes
next as it gives the reason for the bright future. P
follows R as It glves another reason for the
upliftment of women in India. Q comes before 6
as it shows the women in power which is
menfioned both in P and & Choice (D)

. 1. In a fact, a robolic exoskeleton device has

enabled a 39-year old former athlete, who
had been completely paralysed for four
years,

P. This is the first ime that a person with
chronic, complete paralysis has regained
enough voluntary control to actively work with
a robotic device

. The athlete’s leg movement also resulted in
other health benefits.
to control his leg muscles
thousands of steps

5. In addition to the device, the man was aided
by a novel non-invasive spinal stimulation
technigue that does not reguire surgery

B. including improved cardio vascular function
and muscle tone.

(&) SPQR (By RPSQ (C) QRPS (D) PQRS

and flake



a7.

39 1.

Solution:

The correct answer is choice (B). R should follow
1 as it iz a confinuation to the sentence and
completes the sentence. P follows R as it
mentions it to be the first ever such fime where
this kind of event has taken place. S adds
additional information to B as it tallks not just of
the device but also of the non surgical technique
that was used, O comes in the end as it shows
the health benefiis and completes sentence &

Choice (B)

1. Mandela led the bafile of freedom against
slavery

The way was fighting with non-viclence and
fruth

He fought it in a unigue way,

This struggle brought the racists down fo the
ground,

fany nations got their freedom in this way.
But some nafions still wouldnt get the
desired freedom,
(&) SPQR

(C) QPRS

mm ;Do T

(B) PQRS
(D) RSPQ

Solution:

The comect answer is choice (C), The fighting

style of Mandela a is menfioned in O, What was

the way is mentioned in P and hence it follows Q

The words this struggle® in R refer to the non-

vidlent struggle in P, Hence, R folows P. S

follows R as it mentions that other nations also

adopted Mandela's style, & follows as it shows
that nat all nations could attain freedom.
Choice (C)
India is rapidly coming under the influence of
wastern culiure,

P. Earlier India had its own moral and sodal
values,

Q. This change can be seen in our education
system, marriages, food habits and daily
routine,

R. Butfioday they have changed enormously,

5 The effect of westernization is visible
everywhera in India

6 It may be harmful to forget our culture and
values completaly,

A QSRAP (B} PSRAQ
(C) PQSRH {0) SPRQ
Solution:

The comect answer is choice (D). S follows 1 as it
mentions the westernization, P follows next as it
menfions India’s moral systems. R follows next as
it mentions how this system has changed
mentions the changes. & presenis a
precautionary note, Choica (1)

The waorld is stunned with the news that 44
year old Steave Irwin is no maore.

P. He was shooting in the Great Barrier Resf of
Clueensland,

41,

1, He is klled by the poisoned barb of a huge
sting ray.

R. The incident took place at about 11 a.m

& Hewas shoofing an underwater documentary

film

& Irwin was brought fto the surface
UNConscious,

(A) RSP (B) SPQR

(C) PRSQ (D) QSPR

Solution:

The correct answer is (B). S should follow 1 as it
mentions when the incident took place. P follows
next as it mentions where the incident took place,
Cl follows P as it mentions what had happened, R
follows Q as the incident can be reporfed only
after it has taken place, Choice (B)

Designing is as natural fo me as breathing

It was then that | launched my own labal,

It's bean a good season so far

But my camer took off only after the birth of
my second child

Hight now, I'm busy with my first store,

Mext manth, Il be going to MNew Yark,

(&) PSQR (B) RPSQ

{C) SQRP (D) QRSP

omn DO

Solution:
1 infroduces what the author likes, B should
follow next as it menfions when the main event
kick-started, P comes next as the Then' refers to
the ‘childbith® in R, & follows next as it mentions
what the author is doing currently and O
concludes as it mentions how the work is going
Choice (B)

e

1. Katherine Mansfield was bomn in Wellington,
Mew Zealand

P. In 1208 she went back to the London which
she felt to be her spiritual home,

1. She was sent to Queen's College Schod,
London in her fiffeenth vear to finish' her
education

A. She remained thare for four years.

5. Soon after returning fo MNew Zealand, she
became dissatisfied.

&, She hoped to make a literary carreer thare,

(&) PQRS (B) PSR

{C) QRSP (D) RSQP

Solution:

The correct answer is choce (C). Q follows 1 as it
helps build a chronology for Katherdne, O
mentions her 15" wyear and hence, comes first, B
comes next as it mentions the duration for which
kKatherne was in London. S follows R as it talks
about her return fto MNew Zealand and her
experience there, P comes in the end as it
mentions that she went back fo England as she
was unhappy in Mew Zealand. & mentions what
she did after returning to England,

Choice (C)



42, 1.

a couple in my neighbour is known for

shouting at each other.

F. With an apprehension of a serous fight

between the two | went closer to the door and

peeped in.

| intended to calm them down.

| could guess both of them lay peacefully in

their bed

5. Last night at about 11 O'clock | could hear
shrieks and sounds.

& The fight was going on ina T.V. Sedal on a
channsl.

B RPSQ (B) SPCR (C) PSRQ (D) RPQS

|

Solution:

The correct answer is choice (B). 5 follows next
as it mentions the shreks. P follows next as the
shrieks made the narrator think that a fight could
be in progress, O comes next as the narrator
wanted to intervene so that they would not fight.
R comes in the end as the narralor realizes that
they are not fighting. 8 mentions that there was a
fight on the TV.

Flease note: Statement & is unnecessary in the
sequence and can be done away with,
Choice (B)

. 1. Technology is meant for bringing comfart to

the body and spintuality brings comfort to the

mind.

Butin India that never happened, religion has

always encouraged Science.

Scientists were persecuted,

Here religion and Philosophy were nsver

isolated practices

In the West, religion was always opposed to

Science,

B8 They intertwined with life, in music, ar,
drama, dance, painting and sculpture.

(&) SRQP (B) PRSQ (C) SQPR (D) PQSR

no

7

Solution:

The correct answer is choice (C). S follows 1 asit
introduces what happens in the Wesl. Q is a
continuation of 5 and menfions the resul P
shows a conlradiction and mentions what
hapoens in India. R is a continuation of P and
shows another aspect of Inda Choics (C)

. 1. The word ieaders,
P. that the despotic regime will Iry lo get
by unieashing cruder viglence that may come

unanimous in voicing their fears

over ils palpable sense of insecurity

in the form of the use of chamical weapons
(4) RPSQ (B) SCAP (C) QPAS (D) PQSR

=]
R gathered in lhe peace-conference, wars 47.
&
8

Solution:

The correct answer is choice (&), R follows 1 as it
shows where the world leaders were and why dd
{hey gather, P folows next as it shows what their
fears were. Whal is the regime trying 10 do is
menSoned in 5 and hence, it fdlows P. How

would the regime attain its methods is menfioned

in & and that comes next folowed by & which

shows the means of unleashing the violence.
Cholce (4)

The Cinema is a very valuable teaching aid.
The cinema is entertaining also.

Historical films help the teacher of History.
Sclence can also be taught very effectively
through Cinema.

Large number of people like social films.
Thus Cinema has a great impact on our
society.

(#) SQRP (B) RQSP (G) QRPS (D) PQRS

Do~

@ o

Solution:

The correct answer is choice (C). O follows 1 as it
further supports the idea of cinema being a
teaching aid. R comes next as it mentions ‘also’
which means in addition to. This means that in
addition to being useful for history teachers, it is
also helpful to science teachers. F follows next as
it gives another aspect of cinema besides just
feaching. & comes next as it talks about social
films which supports 6 in seqguence as 6 talks
about the impact of these fims on the socety.

Cholce (T)

Grandpa had some old clathes

But my mother took them out and kept them

neatly folded in the cupboard again.

So he threw them into the waste basket

So he put the dothing into the family’s bag of

items to donate to charity.

Wy mother found them and put them back in

his basket,

6. Grandpa finally put the items in my mothers
mending basket and never saw them again,

(&) SAPQ (B) QSAP (C) PQSR (D) RSOP

o

oo

tn

Solutlon:

The comect answer is choice (D). R follows 1 asit
mentons what Grandpa did with the cid clothes
& follows R as it mentons what the mother dd
with Grandpa’s dothes. Q comes next as o
mentons what Grandpa did when he found the
clothes again. P tdlows Q as it mentons the
mother doing something again

Please note: A correction has to be made in 5
The word basket should be changed o cupboard

Ghoice (T)

Children like to celebrale their birthday

1

P In addition to bithday presents, they also
receive grealings

Q. It provides an coporunity for them lo enjoy
themselves with their fiends

R The birthday presents also add (o their joy

& Mobody can deny that company of fniends is

ul

8 ﬂl these faciors make birthday worth

celebrating.

{A) SRPC (B) RPOS (C) QSRP (D) QRSP



Solutlon:

The correct answar s choloa (C). O follows 1 as it
mentions what birthdays provide kKds with. S
follows O as it mentions that everyone loves to be
with friends. The friends in 5 is a conlinuation to
the friends in Q. R comes next as it mentions
another aspect of birthdays, besides friends, Tha
word ‘alsc” helps us in understanding this. P
comes in the end as in mentions things in
additions to the presents menticned in R

Gholce (3)

. 1. Rola Sleiman parked her car in the only
ampty spotl outside Tripali's evangelical
church.

But that's not the only thing makes her
unigque,

. She’s a pastor, and at 37, she's younger than
most of her colleagues,

R 1t is a small zand-coloured building with a
simple fagade and large wooden doors in the
midde of the city

5 It was Sunday morning and, like every
Sunday af around this fime, Rola was headed
o wark.

6 Rola iz also, as far as she knows, the only
female pasior in Lebamon — and perhaps
evan in the entire Middle East.

Al SRPQ {B) RSQP
{C) saPA {0} PRSC
Solution:

The correc! answer |s cholca (B). R follows 1 as it
talks sbouwt the church building. S comes next as
it talks about how Roa spends her Sunday
mormings,. Q comes nmext as i1 giwves an
introduction to who Rola is. P follows Q as it talks
aboul her uniquensss. & tells her what the
UNIQUENESS i3, Chaice (B)

. 1. Reasearches say that jogging alone is
un healthiy.

P. It was found thalt communal joggers have
double the number of brain cells as solo
runnars.

Q. These positive effects are suppressed when
running oocurs inisolation.

Experiments indicated thal runming alone
stifles brain cell regeneration

& Ewxperienced in a group, running stimuates
brain cell growth.

6 However, joggers around the wordd should
remember that jogging is healthier than the

rat race.
) RPSQ B) RGPS
{C) SPQR (Oy POER
Solutlon:

Statemant. B folloee 1 as it evplaine wy e
jeggng {or jogging in isclation) unhealthy
Statement P corrcborates what is stated in the
preceding sentences by sfating that communal
joggers have double the number of brain cells as
solo runners. Statement 5 complemants P saying
running in a group stimuates brain cell growth

50.

81,

52,

‘These positive effects” in Q refers to the positive
effects mernticned In S, hence O follows 5.
Therefore RPSQ is the comedt sequence of
sentences which comes between 1 and &.

Choice (A)

1. The hear is the pump of life
They have even sucoseded in heard
transplanis.

Q. Mow-a-days surgeons are able to slop a
patient’s heart and cary out complicated
oparations.

R. A few years ago, it was impossible to cperate
on a patient whose heart was not waorking
properly

5. It the heart stops we de in about five
minutas,

5. All thiz was made poasible by the invention of
the heart lung machine,

(&) QRSP (B) RsQP
{C) PQRS () SARPG
Solution:

Slatement R folows 1 stating how it was
impossible to operate on a patient whose heart
was not working properly. S folows R saying
what happens when the hearl slops. Statement
2, which mentions, how surgeons - these days -
are able to stop a patient's heart and carry out
complicated operations, iz a confinuation of S,
“They" in P refers to "surgeons” mentioned in Q.
Hence RSOP is the correct sequence.
Gholca (B}

1. Malanda became India's famous centre of

education.

P. Ten thousand Buddhist monks used to live
there.

Q. Itissituated near the fown of Bihar Sharif

B. The ruins of Malanda can still be seen.

5. It was visited by the Chinese Pilgim Hiuen
Tsang

8. He slayed there for several years

{A) QPSR (B RP3G

{C) RGPS 0y sPOR

Solution:

It is explict that only 5 can precede statement 8
a5 ‘he” in 6 refers to Huen Tsang mentioned in
5. Thisis seen only in Choice (T}, Choice (T}

1. Once ugon a time | went to Scolland
P. | found my flesh creep as | walked down its
sinister corridor.

Q. There, in a caglle in the dark, misly
highlands, aclually a modest hotal in
Edinburgh,

B, and the next moming he'd been found with
hise thraat lif.

5 We'd had dinner with Jock Meo Arthur only
the pravious night,
8 The chill finger of suspicion pointed at all of

L5,
{A) QPSR
{C) PQSA

(B) sRaQP
(D) QRSP



Solution:

Statement O is a confinuation of 1. “Ite” in P
refers to the casfle menfoned in Q, hence P
follows Q.5 comes next by reporiing a simister
occcurrence. It i guite obvious that R is a
continuation of 5. Hence QPSR is the correct
SEQUENCE. Choice (A)

Direclions for guestions from 53 lo 74:

In the following Twenty Two questions, a part of the
zentence’santance is underined Below are given
alternaiives to the undedined part which may improve
the sentence. Choose the correct alternafive. In case

no

improvement is  required, choose Mo

Improvement” oplion. Mark your answer in the
Anzwer Sheet

53. He was a failure at art but his last piece was so

54,

58,

iful | [
painted it
{A) indeed a masterpiece |
(B} Mo improvement
{C) breath taking enough to be unreal.
(D} very realistic and unbelievable.

Solution:
The underlined part of the sentence does not
require any improvement. Cholce (B)

The old car thumped along over the stony road
{A) chugged {B) Moimprovement
{C) creaked (D) crawled
Solution:
Chugged, meaning "to move making the sound of
an engine running sowly” is the correct
replacement for the underined par of the
sentenca. Choice (4)

. Honesly is more superior {than riches.

{A) more superior to
{B) superor io

{Z} far supenor than
(D) Mo improvement

Solution:

The ewpression “superor to’ brings out the
companson intended in the sentence. “More
superior' or ar superor than” are grammatically
incorrect Choice (B)

Whal does agonise me mest is noet this criticism,
but the frivial reason behind it

{A) most agonising me

{B) Mo improvement

{C) most agonised me

(D} agonises me most

Solution:

In this sertence the reference is to a routing
oceurrence, hence this gshould be reported in the
simple present tense. Hence "agonises me maost”
is the correct expression. Choice (D}

a7

ba.
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g1,

B2.

. A hand pump is very easy to work and it can be
fitted in every house.

(A1 can be fithing {B) Mo improvement

(C) can be fits {D) could be fitting
Solution:

The sentence is grammatically corect and
FEQUIrES NG improvement. Cheoice {B)

| was greatly shocked by the most ruthless
murder.

(&) gruesome
{C) shocking

(B} Mo improvement
{0} loatheome

Solution:

The word “ruthless”, which is used to describe
persons of their behaviour, does not colocate
with murder. The word gruesome is more
appropriate here Choice {A)

It the room had been brighter, | would have beean
able to read for a while before going to bed

{&) Had the rcem been brighter
(B) It the room wasz brighter

{C) Mo improvement

(D) If the rcom are brighter

Solution:

The reference in this sentence is to a condition,
this condifion is indicated by the expressions “had
the rcom been brighter” or 5if the room were
brighter”. Choice (A)

Listen attention to what | say.
(&) aftentive {B) attend
(C) attentively {0} Mo improvemant

Solution:
It is clear from the sentence that an adverb is
required in this context Hence the word
attertively, which mentions how the person who
iz addressed should listen, is the best
replacemen for the undedined part.

Ghoice (5)

They have not and cannat be in the good books
of the coach because they |ack disdpline.

{8) have not and can never been

(B} have not and can never be

{C) Mo improvement

(D) have not been and can never be

Solution:

Choice (D) is the best replacement for the
undedined par, because the reference is o a
past ccouwrrence and something which is likely to
happen in the future, hence “have not been’ and
‘gan never be” are the comect expressions.

Cheice (D)
Sincanty is always appreciated,
(A) Mo improvement {B) enjoyed
(B} enhanced {0} waited
Solution:

The senience does not reguire any improvemant.
GChoice (A)



63.

67,

The criminal was hung to death

Ay hang (B} hanged
{3} hunged {0 Mo improvemeant
Solution:

Hanged, which is the past tense of hang meaning
to kil somebody, is the correct replacement for
the underined part of the sertence

Ghoice {B)

. He has composed a bea utitul song.

&) jofted down
(S} written

{B) Moimprovement
(0 penned

Solution:
The sentence is grammatically correct and needs

o | mprovement. Cholce (B)
. Thizs matter admits no excuse.

{A) Mo improvemeant (2} admils fo

{C} admits of (D) admits for

Solutlon:

The phrasal verb "admit of which means io show
that something is possible or probable a3 a
solution, an explanation, elc iz apt in this
sentence Choice{l)

Mo sooner had he reaching the station than the
irain began to move.
(&) Mo sooner had he reach the station than the

train begins to move

(B} Mo sooner did he reaching the station than
the train began to mave.

[C) Mo soconer had he reached the station than
the train began fo move.

{0} Mo improvement

Solution:

The past sentence of the word reach is apt in this
sentence. Hence the correclion is “no sooner had
he reached......” Choice{C)

My father has been advised to reduce smoking
(A lower down

(B) Mo improvement

{C) cut down

(D) reduce down

Solution:

The phrasal verp cut down is the correct
replacemert for the undedined part of the
sentence Choige (C)

The Lowre, a museum known o everyone in the
wirld, is in Paris.

(A Mo improvement

{B) a waord-renowned musaum
{C) aword-famous museum
{0} a globally known musaum

Solutlon:

The expression word-renowned

replacement for the undedined part.
Choice (B)

is the best

70.

.

Ta.

4.

My sister does not know whether fomorrow can
be a hgliday dor her.

{A) whether tomorrow is a holiday 1o her,

(B} Moimprovement

(C) whether tomorrow is a holiday for her

(D) whether tomormow will be a holiday for her.

Solution:

Choce {0} is the correct answer, Because the
reference hera isto a future possibility . ... will be’
i& the correct expression. Cholce (O

The sun will not fse before an hour.

(&) arise inan hour
{B) rises foran hour
(G} Mo improvement
{0} rise in an hour

Solutlon:

“The sun will rise in an hour is the comect
eMprassion Arise, meaning ocowr, s
inappropriate here. Choica {D)

Mary a man have died of cancer.
{A) has died of

(B} Mo improvement

(C) have bean dying of

(D) have died from

Solution:

The expression ‘'many a® is followed by a singular
verb. Hence "many a man has died of" is the
correction. Cholce (&)

| 'want to admit in 8 university in the LIS

4] enrall (B} Mo improvemant
{C} enter D) go
Solution:

Enrall, meaning to arrange for yourself or for
somebody else to officially join a course, school
etcis the correct expression to be used here.
Choice (A)

. Heartfelt prayers to God will always have

expested resulls.

{A) have desired resulis

{B) have good results

{C) have amazing resulls

(D) Mo improvement

Solution:
“Desired resulls” is the appropriate replacement
for the underined part of the sentence.

Choice (A)

She iz annoying that her father had not accepied
her suggestion,
{A) had to annicy

{5) was annoyed

Saolution:

The past tense form of the word “was annoyed” is

apt here as the reference is to a past ocourence.
Choice (T)

(B} was o annoy
(O) Mo improvemeant



Direclions for guestions 75 fo 101;

In the following Twenty seven gquestions, a sentence
has been given in Directindirect Speech. Cul of the
four alternatives suggested, select the one which best
expresses the same senlence in Indirect/Direct
Speech and mark your answer in the Answer sheet.

T6. Vipul said, "Alas! How thoughtless | have been!”
{A) Wipu exclaimed hrcviar thoughtless
| have been.
{B) Vipu regretted upon my thoughtlessness.
{C) Vipu confessed with regret that he had been
theughl ess.
{0} Vipul admitted that he had been thoughtiess,

Solution:

The exclamation “alas’ is corectly expressed
LEing the words ‘confessed with regret” and the
pranoun 71" changes to “he” in the indirect
speech. Choice (S)

T&. The officer said, “Cowards! you shall scon be put

to death.”

(&) The officer said that they were cowards and
should be put fo death soon.

{B) The officer called them cowards and said
that they would scon be put to death.

{C) The officer called them cowards and said that
they must be put o death soon.

{0} The officer said thal they would soon be put
o death

Solution:

Choice (B) is the correct answer. The shall of the
future tensze changes to would in the direct
speech. Choice (D) is incomplete,  Chaoice (B)

T7. My father said to me, "Will you sit and study at

least now."

(&) Wy father asked me if | will sit and study at
least then

(B) WMy father enquired me if | would sit and study
at least now.

{C} My father asked me whether | can sit and
study at least then

(O} My father asked me if | would sit and study at
l2ast then

Solution:

“Asked"” is the correct verb which should be used
in the reported speech and “wil® changes to
“would” and “now” changes fo then in the
reported speech. Hence only Choice (D} is
grammatically correct Choice (D}

78, “What an excellent piece of art " she said .

{A) She exclaimed with surprise was it an
excellent piece of art.

{BY She had exclaimed that It was an excellant
piece of art,

{5} She exclaimed what an excellent plece of art
was it

(D) She exclaimed with appreciation that it was
an excellent piece of arl.

79.

&1,

B2,

Solution:

The exdamation in the direct speech is correctly
exprassed using the words “exclamation of
appreciation” in the reporded speech and the
simple present tense changes to the simple past
tense in the repored spesch This is cbhserved
only in Choice (D). Cheoice {0

Dr. Ratan =said to the pafent, “Take light food and
do not go out in the Sun,”

{&) Dr. Ratan advised the patient to take light
food and not go out in the sun.

{B) Dr. Ratan advised the patient to fake light
food and to do not go out in the sun.

{C) Dr, Ratan advised the patient to take light
food and not go out in the Sun.

{0} Or. Ratan advised the patient fo take light
food and do not go out in the Sun,

Solution:
The advice given by the doctor is correcly
expressed in the indirect speech only in Choice
{8, Cholca (C) is Incorrect because of the
absence of the prepasition to after not

Cholee (&)

. Rajiv zaid to me, "He plays with right hand.®
(&) Rajiv said that he played with nght hand.
{B) Rajiv tcdld me that he could play with right
hard.
{32) Rajiv tdd me that he plays with right hand,
{0} Rajiv asked if he could play with right hand.

Solution:

If the reference is to a habitual action, the tense
of the verh remains unchanged in the reporied
speech, Hence the wverb “plays “remains
unchanged in the reported spesch Hence only
Choica (C) is correct. Cholca {C)

Ghoica (G} s corract Cholce {C)

"0k | how fodlish | have baen in money matters |

{A) He expressed with regret that he could be
s0 foalish in money matters.

(B} He confessed regretfully that he had been
very fodlish in money matters.

{C) He confessed to himself thal he is being very
foolish in money matters.

(D) He exclaimed regretfully that he was very
foolish in money matters,

Solution:
The present perfect tense "have been’ changes
to the past perfect "had been’ in the reported
speech. This seen only in cholce (B)

Choice (B)

| said to my friend, "Can | borrow your dictionary

for one day only?”

(&) | asked my friend if | might borrow his
dictionary for one day anly.

{BY | told miy friend | could borrow his dictionary
for ona day only,

(S} | asked my friend if | could borrow his
dictionary for one day only.

{0y | requested my friend if | can borrow his
dictionary for one day only.



&4,

Solution:

The correct reporing verb which should be used
here is "asked” and "can' changes 1o ‘could” in
the reported speach. Cholee (C)

. Ml say to my friends, “| have started leaming

computer”.

{A) 'l tell my fiends that | learn computer,

(B 'l tell my friends that | am learning computer.

(G} 1l tall my fnends that | have started leaming
computer

(D3 1 tell my fiends that | had slared learming
com puter

Solution:

The present perfect form of the verb “have
started” changes io 'had slarted” in the indirect
speech. Hence only Choice (D) is grammatically
carrect. Chalce {0}

The commander said, “Let the gates be left

open.”

{A) The commander ordered that the gates will
be lefl open

{B) The commander ordered for the gates fo be
lefl open.

{C) The commander ordered that let the gates be
left open,

{0} The commander wanted that the gates be left
open,

Solution:

The commander orders for something {o be done.
The given sentence is correctly expressed in the
reported speech only in choice (B).  Choice (B)

. | said to my mother, "Please warm this milk. Dont

beil it.”

{A) | requested my mother to warm that milk and
asked her not boil it

(B8} | asked my mather that she may warm that
milk but not boil it.

() | requested my mother that she warm that
milk and net to boil it

(D) | told my mcther respectfully that she will
warm that milk and not to boil it

Solution:

The expression “please’ s correctly expressed
using ‘requested” as the reporting verb, You
request somecne to do something. Hence the
correct form of the sentence is °| requested my
mother towarm that milk............. Y Chaoice (A)

. "They are late” she has already told us.

{A) She has already told us (thal) they are late.

{B) She lold us that they are late already.

{G} She told us that they are already late,

{0} She has already been telling us that they are
late,

Solution:

Options B and © can be eliminated because the
expression “already fold us’ is not in the direct
speech, hence it should not be changed in the
reported speech. Choica (D) is incormect because
the present perfect conlinuous tense “has been

87,

speaking” is incorrect here. Only Choice (&) s
grammatically correct, Choica {A)

He said fo me, "Where are you golng?~
{A) He asked that where | was gaing

{B) He asked me where | was going.

{C) He said me to where | was going.

(D} He said o me that where | was going.

Solution:

Cnly Choice (B) is grammatically correct. The use

of "that” afier "asked” makes choice (A) incorredt.
Chelca (B)

. The teacher said to me, *| hope you will bring

credit to my school

{A) The teacher hoped that | would bring credit to
his school,

{B) The teacher desired that | bnng credit to his
schod,

{2} The teacher said that | will bring credil to his
school,

{0} The teacher wished that | would bring credit
to my schodl.

Solution:

The word "hoped’ should be used in the reported
speech to denole the expression of hope
indicated in the direct speech. The will of the
direct spesch changes to would in the repored
speech and 'my’ changes to “his”. This seen anly
in choice (A}, Choice (A)

. "There is no need for you to be so angry " said

Mrs. Sen io her husband

{4 Mrs. Sen fold to her husband that there was
no need for his anger.

{B) Mrs, Sen told her husband to not be so
angry.

{C) Mrs. Sen told her husband that there was no
need for m o be so angry

{0} Mrs. Sen idd her husband that no need was
there to be soin anger.

Solution:
The pronoun You' changes to "him” in the indirect
speech, The gven senlence is corecly

expressed in the reported speech only in choice
G. The remaning oplions are grammatically
incarnect, Choice (C)

. He wished me respectfully and itold that he had

come {o join the office.

{A) He said to me, "Good moming, Sir! I'm here
ta join the office.”

{B) He said to me, "Good moming, Sir | | have
come to join the office.”

{C) He said to me, "Good moarning Sir ! 11 jan the
office today",

{0} He said "Good moming Sir | | want to join the
office.”

Solution:
The past perfect tense "had come’ changes to
the present perect “have come” in the direct
speech, This is seen only in Choicg (B).

Choice (B}



4.

91. | zaid, "Good-bye , my beloved friends *

{A) | wished my beloved fiends good-Dye
{B) | bade my beloved friends good-bye.
{C) | zaid good-bye to my beloved friends.
{0} | bided good-bye to my beloved friends

Solution:

There's no need to hyphenate goodbya. The right
oplion is (B). There can be other ways of

expressing the reporied speech, Chaoice (B)

92. They said, "We were living in Pans.”

(&) They said they would have lived in Paris.
{B) They told me they had lived in Paris.

{C) They told me thatl they had been living in

Paris.

{0} They said they might have been lwving in

Paris.

Solution:

The =ztandard and the correct repored speech
form of the sentence is (&), The first person "We"
i rightly changed to the third person “They' and
the past tense "were" is turned into past perect
tense. Therefora the sentence (S} s accepled as
the only corect option. Other options deviate

from grammatical rues Chaice (5}

hMonday because it is a holiday.”

(&) The teacher asked us dont come to school

on Monday because it is a holiday

(B} The teacher told us dont come to school on

Monday because itis a holiday.

(G) The teacher asked if we were coming o

schoaol on Monday because it is a holiday.

(D The teacher fold us not to come to school on

honday because it is a holiday,

Solution:

The correct form of the reported speech iz option
(D). When it's clear who is speaking to whom, the
use of “told" iz preferable. The teacher told the
students not o do something. The use of "is™ in
the sentence is justified on the grounds that
Monday has yet to come, which means the
sentence was spoken on Sunday or a day or two
betore Sunday. But if the sentence is lcoked at
today, "is" sounds a bit improper because cithers
dont know when the direct speech sentence was
spoken: this year, last year or the year before last
year?, there's no knowing when. So the use of
past tense of “is” would have been betier.

Cheoice (D)

He =aid {o his father, “Shall | go to market now?

{4} He asked his father if he would go to markel

B} ;Tﬁsked his father if he shall go to market

(=) ;Tasked his father if he wil go o market

=)} }EZ&M his father if he should go to market
n.

. The teacher zmid, "Dont come to school on

a7.

Solution:

The carrect answer option is (D) because all the
rues of the game are correctly observed. The
past tense of “"shall" is used and "now® is
changed to "than.” Choica (0

85, "Sam, will you help me carry my bags?”’ Asked

the old woman.

{A) The old woman iold Sam to helped her camy
her bags.

{B) The old woman asked Sam whether he
wiould help her carry her bags

{C) The old woman said to Sam to help her
carried her bags.

{0) The old woman asked to Sam to help her
carry her bags.

Solution:

Cnly option (B has complied with all the rules of
the switch from direct to reported speech,
“Whether* iz rghtly used because a yesno
guestion word ("will™) iz used fo frame the
guestion/request. The first person is changed o
the third person. Choice (B)

896. The teacher said to his student, “Do you have

any excuse for coming late io the schoal, today 7"

{AY The teacher asked his student whether ha
had any excuse for coming late to the school
that day

{B) The teacher asked his student whether did
he have amy excuse for coming late to the
schod that day.

{C) The teacher asked his studert whether he
has any excuse for coming |late to the school
that day.

{0} The teacher asked his student whether he
did have any excuse for coming late 1o the
schod that day.

Soelutlon:

Cplion (A) is correct because all the rules are
followed by it. There are two errors in the direct
speech sentence: first “the" is not required
befare "school” and no comma is required after
"zechool." "Today" is rightly changed to "that day”
and the use of “whether" iz right owing fo the
presance of the yesno guestion word “Do” in
the direct speech. Choice (A}

The boy thanked the Principal for granting him a

fee-concession.

(A)  The boy said to the Prncipal, "l express
my thanks that you have granted me a
fee-concession.”

(B} The boy said to the Prncipal, =| am
thankful io you for a fee-concession.”

(G} The boy told the Prncipal, “You are knd
enough to grant me a fee-concession.”

(0¥ The boy said to the Principal, "Thank
you, madam, for granting me a fee-
concession.”



Solution:

The comrect option is (D) because the sentence
is grammatically correct except for two venial
error in it. First, a comma afier “madam” is
missing and second there's no need of a
hyphen between “fee” and “concession”
Ctherwise this is a perfect sentence and is the
corect form of the direct speech

Choice (D)

88. The teacher said to him, "Do not go out.”
(&)  Tha teacher commanded him that he
should not go out.
(8)  The teacher idd him do not go out
(C)  The teacher ordered him to not to go out.
(0}  The teacher advised him not to go out

Solution:

The cormect option is (A) thaugh it could have
been expressed betler the teacher asked him
nat to .o the teacher instructed him not to .
the teacher urged him not to.. the teacher
ordered him not to .., the teacher commanded
him not to go out, Very rarely do we use this
word in spoken or in written English, however
the sentence isnt grammatically incorrect

Choice [A)

99, He asked me if | would like to have lunch with
him that day
[A) He said to me, "You can if you like {0
have lunch with me foday.”
B He said to me, “Would you like to have
lunich with me today®”
(G He said to me, "can you have lunch with

me today?"

(O He said o me, "Do you like to have lunch
with me today?"

Solution:

Excapt (B) other options are grammatically
wrongly worded sentences. In (B) the right
yes/no guestion word (Would) is used to begin
the sentence with, the double guotes and the
question mark are rightly used at the right
places. Choice (B)

100. Rahul =aid, “vYes | am mistaken"
(&) Rahu admitted that he was mistaken.
(B} Rahu said that he was on mistake.
() Rahu admitted that | was mistaken.
(¥ Rahu said that he iz mistaken.

Solution:

Only one sentence is grammalically correclly
framed and that is option {A). Cther oplions can
be fadlted on grammar. The reporing verb
{"said") is nghlly changed to "admitted®, the first
person is changed fo the third person and the
present tense ("fam”) is furned into past tense
{"was"). The reportad speech s perfect,

Choice (A)

101. The guide said to the swimmer, "Dont swim out

too far”

(A} The guide told the swimmer to not swim out
oo far.

(B) The guide suggested the swimmer that
don't swim out too far.

{2} The guide asked the swimmer not swim out
foo far.

(D) The guide forbade the swimmer fo swim
out too far,

Solution:

The correct option is (D) because other options
deviate from grammatical ries and are
structurally faulty. The word "torbid” is nagative
and its meaning is “to order someone not to do
something” or "o say that something is not
gllowed” Some example sentences with
“forbid”. her father forbade the marriage: you
are forbidden to leave, she knew her mother
would forbid her going; lack of space forbids the
treatment of the fopic here, he forbade them
from mentioning the subject again. 5o the use
of “fo" afier "forbade” iz grammatically and
syntaclically allowed in the answer option (0.
Furthermore there's no use of “not” in the
answer oplion Choice (D)

Directions for questions from 102 to 1711:

Read the passage carefully and choose the correct
answer o each question out of the four allernatives
and fill in the blanks.

Passage (Ten guestions)

Every month scientists (i} new gadgets and new ways
to make technology faster and better. Our homes are
full of hardware (such as DWD players and
computers) il and (such as computer games and
Mp3s) (i) suggesis, howewver, that it iz the young
pecple who are best able to deal with this change.
Whereas teenagers have no problem (ivl} a DVD
player, their parents and grandparenits offen find
using new technology (V) and different. But if you're a
teenager who oriticizes your parents for their fui) of
technoogical awarenass, don't be too hard on them |
Sometime (vii} the future, when you've gol children of
your own, your {wiil} to deal with new technology will
probably (ix} and your children will feel more (X3 with
new technology then you do.

102, (vj="7
{A) unique {B) automatic
[C) sudden {0} complicated
Solution:

The most apt word to fit the first blank is (D)
"ivent” which means "to produce or design
something which has not existed before”
Scientists are in the forefromt of the
{echnologizal revolution and are inventive and
creative enough to imeent more gadgets,
gizmos, dewvices, etc. Other words are way
behind “invent' and are dismissed

- Ghoice (D)



103.

104,

105.

106,

107.

i) =2
[A) estimate (B} found
(G} discover (D) invent
Solution:

The word for the second Dlank is (D) "software”
whiich is required to run or operate a computer.
Without a8 scflware package no computer can
run ar funclion. The computer is composad of
hardware and it is operated by varous software
packages depending on the cperators need and
function. Other words do nol have the wide

range that "software” has. Choice (D)
TR

Ay to (B} in

(C) at {0y on

Solutlon:

With the never-ending array of gadgels and
software, youngsters and elders are bewilderad.
So a research was conducted to find out where
these people stand on this. So research
suggested that youngsters are better equipped
to handle these gadgeis than their parents and
elders, Tha meost apt word is (B) "research.”
Choice (B)

) =7
(&) able

(B} pleased
(G} comfortable
(O} easy

Solutlon:

s ieenagers who constanlly operate and
manipulate gadgets, computers and other
devices and becoma more comfortable and
confident in operating them. They know how o
turn en a DVD player, how to beot a computer
and how ito operate a new mobile. They are
more comfortable and at ease with these
devices and gadgets which the aduis find it
dificult o handle. The suitable word is (A)
"operating " Chaoice (A)

fiiiy =7

{A) exparimant
(B) research
{B) industry
(D} program

Solution:

Some adults, parenis or seniors have yel o get

used to operafing a computer, a DVD player,

eic., because they find these complicated. The

right word for the blank is {0} “complicated.”
Choice (0

fiy="7

{A) gadgets
(B} screens
(G laplops
(0¥ software

Solution:

it's easy for youngsters to criicize their parents
and adults for their inability to operate a
computer, a DVD player, elc. Ability o use
comes with praclice and willingnass o adapt to
change. Youngsters will ridicule their adulis® lack
of knowiedge or ability to handle the new
gadgels, devices, elz. The right waord is {O)

“lack." Choice (C)
108, (wi) =7
(8] effect
(B) amourt
{5} lack
(D) slorage
Solution:
The preposition 1o fit the preposifional phrase is
“in", not amy other prepesition. The corect word
iz {B)"in~ Choice (B)
108, fwill) =7
(&) talent
(B) ability
{5} possibility
(0} master
Solutlon:
The author of the piece is now turning to taking
o task the youngsters who have criticized their
elders. But it wonl be long before the
youngsters' ability becomes ocutmoded and
useless. The author is urging some restraint on
thelr parl. The word to it the blank is (B)
“ability.” Abiliies have a limited shelf life and are
a perishable commaodity in some senses
Choice (B)
110. (i) =7
(&) ocperating
(B) invernting
(C) discovering
(0} explaining
Solutlon:

In this blank and senlence the author is dealing
with the siafus of the youngsters® ability o
handle hardware and software. Mew hardware
and software packages are designed and
marketed all the time. The conseguence s that
over time the youngsters' ability will fade or
decrease and their children will become adept at

handling them. The correct word is ()

"decrease.” Choioe (iG]
111.ix) = ?

(&) pleasze (B) easy

IC) decreass i) able

Solution:

The right word fo fit the blank ig {C)

“comforiable.” The last senience has brought
home the truth of generational gap. The
meaning of “comfortable” is “confident and not
worried or afraid.” Cheoica [C)



Directions for guestions from 112 o 121:

Read the passage carefully and choose the correct
answer to each question out of the four allernatives
and fill in the blanks

Passage (Ten questions)

In a survey (I} by a library, it was recently {il} that
parents wish their children to read books with high
moral (iiiy. Around two thousand parenis were
interviewed and most of them [lv) Dickens' The
Christmas Cargl' 85 a musl-read for children. This
Christmas tale (v} the filthy rich but {vi} Scrooge and
the poor but contented Cratchit family offers lessons
in moral duties. Another book which many parents
marked out as a (vil} read was Austen's '‘Pride and
Prejudice’. The choice of this book was rather (wlll},
because, thiz romantic novel is more likely to [ix)
teenagers, than children. Since Elizabeth’s final
choice of Darcy is deeply rocted in strong moral {3,
the parents, probably thought, she offers a good
example for the gifd child fo follow.

112 fviij=7
(&) condusive
(&) mandatory

(B} reconciliatory
(D) credible

Solution:

The rght word to colocate with the noun
"survey” is (D) “conducted.” Mone of the other
verbs can collocate with the noun. Surveys are
conducied and they can be onling, face-io-face,
through questionnaires, through long interviews,

sic. Ghaice (D)
13, (v} =7

(&) revolving (B} involving

(5} employing (D) devalving

Solution:

Surveys have a purpose: o unearth something,
o investigate something, 1o study something in
depih; examine or understand something or io
start or do research, etc. The survey that was
conducted succeeded in revealing something
which remained unknown or unheard of until the
revelations were brought cut. The apt word for
the second blank is ({B) "revealed.” So the

survey has revealed something. Choice (B)
1a wi)=7

[A) fussy (B) finicky

(B) stingy (D) fastidious

Solution:

The survey conducted led to the revelations that
parents wanted their children o read books with
high moral content. That is, stories and other
contents of the books they read should have
strong morality, ethics and may be principles to
shape the conduct and future of their children
So the apt word for the third blank is (D)
"content” "Content™ is what iz contained in
something such as a story, a book, poem,
package, ete. Choice (D)

115. fij=7

{A) concurred {B) exposed
{C) inferred (O} revealed
Solution:

Most of the two thousand parents who were
interviewed in the survey recommended "The
Chnstmas Carcl® which their children should
read without fail. The parents approved of the
moral content of the play and perhaps they
wanted the children to imbibe it. The apt word
for this blank is (D) “recommended "

Choice (D)
116. i} =7
(&) ground {B) deliberation
{C) dilemma (D) content
Salution:

The Chrstmas fale depicted in the play by
Chardes Dickens imvolves the main traits of
some characters in it. The correct word for the

blank is {B) “imvolving " Choice (B)
117. (i) =72

{A] presume {B) attragt

{C) repulse {0} distract

Solution:

An adjecive deschptive of Scrooge fits the
blank. Of the four choices, (C) “stingy” fits the
blank the most. “Stingy” means “being urmailling
to spend money, being misery." Sorooge in fact

was stingy in the play initially. Choice (Z)
118. (W=7
{A) restored {B) revised

{C) remarked {0 recommended
Solutlon:

The next adjective should qualify the noun
“read” and only (D) “credible* can do the job
well, Sothe correct word is (D) "credible.”

Choice (D)
119, i) =7
{A) unsuspected {B) unnerving
{C} unexpected {0} unfortunate
Solution:

Ancther adjective is (C) "unexpected” which can
modify the noun “choice.” This adjeclive is a
predicative adjective because it is placed far
away from and atier the noun it qualifies.

Choice ()
120, [ =7
{A) employed (B} maintained
{C)} circulated {0} conducted
Solutlon:

The choice of Jane Austen’s novel “Pride and
Prejudice” was unexpecied because there is
romance in it which will attract youngsters, not
children. But the parents had other reasons for
recommending this novel. The right choice is (B)
"attract” Cholce (B)



121, () =7

(&) disturbances
{Z) discomfort

(B} dilemmas
(D) considerations

Solution:

In the last sentence the parents give their
reason for recommending “Pride and Prejudice”.
They =say there iz a strong moral
consideration/content in the aclion by one of the
characterzs of the movel. The rght word iz (D)
"consideration” Since the parents wanied
stories and other content with high moral
qualities, they recommended these two English
classics, namely “The Chistmas Card”™ and
"Pride and Prejudice.” Chaoice (D)

Directions for guestions from 122 fo 141;

In the following Twenty questions, a sentence has
been given in Active/Passive Voice. Out of the four
alternatives suggested, select the one which best
expresses the same senlence in Passive/Achve
Voice and mark your answer in the Answer Sheet

122, Did he plan an excursion o mourtains?

123.

124.

{A) Was an excursion to mountains planned by

(B} 'I:;;nd:an excoursion to mountains planned by

() Ir:ma-n excursion to mountaing planned by

(D E:s:an excursion to mountains planned by
im

Solution:

The gquestion in the active voice is rightly turned
into a quesficn in the passive in (A). Cther
oplions (B) 1o (D) break the rules of grammar
The corract option s (&), Chaoice (A)

That too many cooks spol the broth is known to

all

(A} All know that oo many cooks spail the
broth,

(B) All knew that too many cooks spaoilt the
broth,

(G} Al know that the broth is spoilt by too many
cooks.

(D) Al knows that the broth is spoilt by too
many cooks,

Solutions:
The firet astatement iz in the passive voice and
its aclive voice is option (A). All the rdes of the
switch from passive o active are kept.

Ghoice (&)

The Swiss regarded him as an imposter and

called him a Villain.

{A) He was regarded as an imposter and was
called a Villain by the Swiss.

(B} Heis regarded as an imposter and was
called a Villain by the Swiss,

{G) Hewas regarded as an imposter and is
called a Villain by the Swiss,

(D} He has been regarded as an imposter and
zalled a villain by the Swiss

125.

126.

127.

128,

129.

Solution:

The statement is in the active voice and the
corect passive voice is in option (A). All the
rules of the transformation from aclive to
passive are kept. Choice (A)

Ratan is performing an experment.

(&) Experimenis were performed by Ratan.

{B) An experiment was performed by Ratan,

{C) An experiment is perormed by Ratan.

(D) An expenment is being perormed by
Ratan.

Solution:
The statemert is in the active voice and the right
passive voice i1s gwen in opliion (0. Cther
oplions break the rules of grammar,

Cholee (D)

We shall write a novel.

(A) A novel will have been written by us.
{B) A novel will be written by us

{C) A novel would be written by us.

(0% A novel is written by us

Solution:

The statement is in the active voice and iis
passive counterpart is opiion (B). Options {A&),
(C) and (D) deviate from grammar and the rules
of fransformation Choice (B)

Sita learns herlessons daily.

{A) Her lessons is learnt daily by Sita.
{B) Her lessons are leamt daily by Sita
{C) Her |lessons was learnt daily by Sita
{0} Her lessons were learnt daily by Sita.

Solution:

The active voice is coractly turned into its
passive voice form in option (B). Other cplions
break the rules of the game. Choice (B)

Who tore the curtains yesterday?

{A) By whom were the curtaine teared
yesterday?

{B) By whom were the curlains torn yesterday?

{C) By whom were the curtains tore yesterday?

{0} By whom are the curains tom yesterday?

Solution:

The aclive voice is an interrogative semence

and =so should the passive vioica sentence be.

There are gquestion marks at the end of the

sentences. The nght passive oplion is (B). Cther

aplions do not follow all the rules of the switch
Choice (B)

We prohibit smoking

{A) Smoking will be prohibited
{B) &moking is prohibited,

(G} Smioking has been prohibited.
(D) Smoking is being prohibited.

Solution:

The aclive voice |z furned into ifs passive in
aption (B). Wrong auxiliaries are used in other
oplions Choice (B)



130

131,

13z

133.

134,

The judge ordered the murdered to be hanged.

(A} The murdersd was ordered by the judge io
be hanged

(B) The murdered was to ba hanged according
to the order of the judge,

(C) The order was given by the judge to hang
the murderer.

(D) It was ordered by the judge 1o hang the
murderar.

Solution;
The right answer under the given options is {0
Choice (D)

| shall be coliged o go.

(A} Circumstances could oblige me fo go
(B) Circumstances may oblige me to go.
(&) Circumstances would cblige me to go.
(D) Circumstances will cblige me fo go

Solution:

The statement is in the passive voce and its
active voice form iz in opiion (D). Other options
viglale the rules of grammar Choice (D)

| didn't speak even a single word in the meeing.

(&) Ewven a single word was nol zpoken by me
in the meeting.

(B} Even asingle word has nol been spoken by
me in the meeting.

(C) Ewven a single wond had not been spoken by
me in the meeling

(O) Even a single word have not been spokan
by me inthe meeting.

Solution:

The aclive voce is nghlly turned into the
passive voice in option (&), Other options arent
right. Choice [A)

Who had laughed at you?

(A) By whom were you been |laughed at?
{B}) By whom had you been laughed at?
{C) Who had you been laughed at?

(D) By whom you had been laughed at?

Solutlon:
Cption (B) is the right passive voice form of the
active voice, Choice (B)

Hindly offer your remarks.

(&) You are being reguested to ofler your
remarks.

{B) You are reguested to offer your ramarks.

{5} You were requested to offer your remarks.

(D You have besn requested to offer your
remarks.

Solution:

The correct anewer is choice (B). The quesion
sentence is in the simple present and hence the
answer shoud also be in the simple present
tenze. In choice (&) the continuous tense is
used which makes it an incorrect choice. Were'
in choice (C) is in the past tense, making it an
incorrect choice. *Have been’ in (Y is present
perect tense,_ which makes the choice incorrect.

Ghoice (B)

135.

136.

137.

Rajesh coud not complete  his

because he had a headache.

{A) Rajesh's paper would not be completed
because he had a headache.

(B) The paper coud nol be completed by
Rajesh because he had a headache.

{C) Rajesh's paper coudd not be completed
because he had a headache

{0) The paper of Rajesh could not be
completed by him because he had a

headache.

paper

Solution:

The correct answer is choice (B). The guesicon
statement is in the simple past tense and hence
the answer should also be in the simple past
tense. In choice {A) the subject and object
haver't been changed. Also, 'could' from the
guestion cannot be changed 1o "would', These
reasons make choice (A) incomrect Choice (C)
also sees no change in the subject and coject
The ‘paper of Rajesh’, in choice (D), is
grammatically incorrect. Chaoice (B)

It is time to water the plants.

(&) Itis ime for the planis o be watered.
{B) Itis fime the plants be waterad

{C) tis ime when planis are watered.
{0} The plants should be watered,

Solutlon:

The carrect answer is choice (A). In choice (B,
the lense of the senlence is incorrect. In choice
{C) the meaning of the senfence is altered
indicating that everyday at that hour the plants
are watered. This makes the sentence incorrect.
In choice ([ the sentence implies a compulsion
and does not aclually show a change in the
active passive voice. Choice (A)

These days most of the studenis do fheir

assignments with the help of the interest,

(&) These days the assignmenis are being
done with the help of the internet by most of
the students.

{B) These days the assignmenis are being
done with the help of the internet by most of
the students.

{C) These days most of the assignmenis are
done with the help of the internet by the
studants.

(D) These days most of the students are doing
their assignments with the help of the
intarnet.

Solution:

The corect answer is choice (A). The subject
and the object hawve been changed. The
sentence is in the simple present tense. Ghoice
(B) iz incorrect as it places the sentence in the
present confinuous  temse, which makes i
incorrect. The meaning of the senlence has
been altered in choice (C). The word ‘most’ has
been used for days and not for  the
‘agsignments’. This makes choice (C) incorrect.
Choice (D) is incorrect as it uses a present
continuous tense. Cholce [(A)



138. Cwr vehicle had been stolen from our garage by

the =ame burglary team.

{A) The =zame burglary team had siclen our
vehicle from our garage

{B) The same burglary team has siclen our
vehicle from ocur garage.

{G) The same burgary feam s slealing our
vehicle from cur garage.

{0} The same burglary team will have stoden
our venice from our garage.

Solution:

The comrect answer is choice {A). The quesiion
sentence is in the past perfect tensze. Choice (&)
is also in the past perfect tense, Choica (B) isin
the simple present lense, which makes il
incorrect. Choice (C) is in the present
continuous tense, hance incorrect, The usa of
‘will have' in choice (D} makes choice (D)
grammiatically incorrect. Choice (A)

139. Who gave you the money?
{A) By whom was you given the money?
(B} By whom were you given the money?
{G) Who gave the money ta you?
(D) Who was given the money by you?

Solution:

The correct answer is choce (B). Choice (&) is
grammatically incorrect as it menfions 'by who
was you'. The use of ‘was' after ‘you' makes the
szentence incorect and it should be replaced
with 'by who were you'. The formation of the
sentence in cholce () Is incomrect as it
mentions ‘money to you'. It can be correcied to
"who gave you the money’, bul that would
change the sentence into passive voice. Choice
(I i= logically flawed as it says that scmeone
got thie money from you, yet asks who gave the
money. Choice (B)

140. The situation could hardly have been altered by

the interferance of the pdice force.

(&) The interference of the police force could
hardly have altared the situation.

(B} The intederence of the police force can
hardy alter the situation.

{C) The Intederence of the police force had
altered the situation.

{0} The interference of the police force could
alter the situation with hardness.

Solutlon:

The correct answer is choica (&), The orginal
sentence is in the present perfect tense. Choice
{B) changes the tense of the sentence to simple
present fense. Choice (C) changes the tense of
the sentence fo simple past tense. Choice {(0) is
incorrect in meaning as it uses the word
‘hardness” which relates o something physical.
The word situation is abstract. Cholce (A)

141, Shut the door
{A) Let the door be shulted.
(B) Letthe door be shut by you.
{C) Let door be shut
{0 Let the door be shut.

Solution:

The correct answer is chocg (D). The quesion
sentence is in the present tensa. Cholce (A) |s
incorrect as it changes the tense of the
sentence to past tense, Moreover, the word
‘shutted” is grammatically incorrect. The past
tense of "shut' is 'shul’. There are two errors in
choice (B). There is an aricle missing before
‘door'. Also, the words 'by you' are incorrect as
they are not present in the orginal sentence.
Choice (C)} also does nol have the artide 'the'
before door, making it incormect. Choioe (D)

Directions for questions 142 to 146:

Read the passage carefully and choose the best
answer to each quastion out of the four allernatives,

Passage (Five questions)

Mobody can argue that the acguisition of knowledge
= more fun and easier with computers. The meara
activity of touching and exploring this  device
constitutes an enjoyable task for a child This,
accompanied by the relaxing aftitude and software
interactvity, usually contibutes to a better grasping of
new knowledge, Al a higher educaticnal level the
avallability of dgital books, simuators and other
academic materials provide the student with an ever
accessible source of intormation, that otherwize
would mot be at hand But, besides the increasing
complexity and behaviour of intelligent software,
which is usually embedded in the academic digital
material, the need for human interaciion in the
leaming process will always be present, at leastin the
foreseeable future. There is the necessity for a
human being o be able to determine what the
specific needs of each individual are. A computer, no
matter how sophisicated itz software is, can hardly
miimic the expertize of a teacher in how to explain and
adapt complex concepts o different individuals

142. According to the author, human interventicn will
always be required in arder to
(4] update old software
{B) built bigger machines
{C) determine the specific needs of the
individual
{0} repair broken down machines

Solution:
The fifth last line of the passage says that there
is the necessity for a human being 1o be able io
determine what the specific needs of each
individual are, Hence, choce ()

Chaoice (C)

143. What other factors related 1o computers
contribute to a deeper acguisifion of knowledge?
{A) Relaxing atbiude and software interachvity
{B) prompt response and accuracy
{C) Convenience of usage and design
(D) User friendiness and easy accessibility

Solution:

Az mentloned in the sixth line, elaxing atiitude

and software interactivity contribute to better

grasping of new knowledge. Hence Choice (A).
Choice (A)



144. According fo  this  essay, what new
developments in the world of computars have
helped students gain more access o
information?

(&) Availability of general knowledge software
B} Availability of prinfing faciliies

(G} Availability of word procassing applications
(O} Availability of digital books

Solutlon:

Lines 8, 10 and 11 deary state that availability
of digital books provide students with ever
accessible source of information. Henece, Ghoice
(] Choice ()

145, In whal way are computers inadequate even
inspite of their sophistication?
(&) They keep breaking down after much use.
(B} They can hardly imitate a teacher's ability to
explain the meat ditficull of concepts.
() They sill need humans to turn them on and
off

(D) They require humans to update them
pernadically

Solution:

The last sentence of the passage deary states

that however sophisticated a computer maybe, it

cannot replace the expertise of a teacher o

explain complex concepts. Hence Choice (B)
Choice (B)

146. That computers make leaming easier is a fact—
(&) accepted by all (B) rejecled by some
(C) welcomed by all {0} contested by a few

Solution:

The opening statement of the passage says that
"nobody " can argue that computers make
acquisition of knowledge easier. Hence Choice
[A). Choice (A}

Directions for questions from 147 to 157:

Read the passage carefully and choose the best
answer fo each question out the four altematives.

Passage (five questions)

Crne Movember afternoon, a child came to Rhayader's
light house studic. She was about twelve, slandar,
dirty, nervous and fimid. In her arms she cared
something. She was desperately afraid of the ugly
man she had come fo see, but she had heard
somewhare that this man woud heal injured things
The man's voice was deep and kind when he spoke
to her, What is it, child? She stepped forward fimidly,
and In har arms was a large while bird which was
quite still. There were staine of blood on its
whiteness. The girl placed it in his arms, °| found it,
Sir. It's hurt |z it still alive?" "Yes. Yes, | think so*
Rhayader went inside with the bird in his arms. He
placed it upcn a table, The girll covered. The bird
fluttered. Rhayader spread one of itz large white
wings, "Ghild where did you find it?" 'In the wash, Sir

Hurnters had been there” It is a snow goose from
Canada. But how did it get here™ The gifl's eyes
were fixed on the injured bird. She said ‘Can you heal
it, Sirt "Yes” said Rhayader. "We will try. You can
help me, She has been shol, poor thing, her leg is
broken and the wing too

147. Where did Rhayader live?
(&) In a cabin by the marsh
(B) An old cottage marsh
{5) Inabamn
(D) Inalight house

Solution:

The first sanlence states that Rhayader stayed
ina light houwse studio. {& studo apartment is a
small apariment which combines living room,
bedroom, and kitcheneiie infc a single room).
Henca Cheice (D) Cheice (D)

148. Where did the bird come from?
{A) From Australia {B) From Marth America
(C) From the South (D) From Canada

Solution:

Rhayader tells the child {&th last line) that the
bird Is a snow goose from Ganada, Hence,
Choice (D) Chioice (D)

1438, Which of the phrases best descnbes the girl?
[A) Shy and dean (B) Bold and brave
(G} Lowd and forceful (D) Slender and dirty

Solution:

The third line of the passage states that the gid
was slender, dirty, nervous and fimid Hence,
Chaice (D) Choice (0}

150. How had the bird been injured?
(&) While flying through the woods
B} By a great storm
(C) By wild animals
{0} She had been shot by huniers

Solutlon:

When Rhayader asks the gidl where she found
the bird, she replles that she found it in the
wash, ard hurters had been there. Hence
Chaice (D) Choice (D)

181, Why did the girl take the bird o Rhayader?
(A} Sothat he would tall her if It was still alive
(B} 5o that he would send it to where it came
from
(G} Sothat he would tall her what to do
(D) Sothat he would heal it

Solutlon:

The fourth senlence of the passage stales that
the girl had heard that the man would heal
injured things. So she would have brought it 1o
the man so that it can be healed.

Choice (D)



Direclions for guestions from 152 fo 156

In the following Five guesiicons, seniences are given
with blanks to be filled in with an appropriate word(s).
Four alternatives are suggested for each question.
Choose the correc! allernative out of the four and
indcate it by blackening the appropriate circle [=] in
the Answer Sheet.

152. He set up institutions of international .

(&) repulation (B} famous.

(G) repute (0} rencwn

Solution:

When we talk abouwt something having

[possessing) a good name, we say it has a
‘reputation’. But when we use the preposition ‘off
it is followed by “repuie’. Hence Ghoice (C)

Chaice (C)
153. If you do well in this exam next year then my
etforts __ =sucoessful.
(&) has been (B} would have been

(T} have baan {0 wall be

Solution;
When the situation or action depicted in the if-
dause is a result of the main dause, the wil-

fulure |s used. Cholce (DY
154. We not hurry, we have got plenty of

fime.

(&) must (B) need

(G} would (0} shoud

Solution:

“Meed not” is ueed to show that something is not
necessary, indicating non-cbligation. As there is
plenty of time” it is not necessary fo hurry.

Hence Shoice (B). Shoice (B)
155, The noise of the drum beats _ and

frightenad the tiger

(A} perplexed B) pertained

(C) prevented (0¥ persisted

Solutlon:

"Perplex” means to bafile. In this contexd, that is
the only sullable oplion. Perain means
gpplicable  to, prevent means to  keep
(something) from happening, persist means fo
nat give up. Choice [(A)

158. Masked men __ a securly van on the

mcfonyay.
(A) held out (B} held up
(S} held forth (0 held on
Solution;

Held out means extended out, held forth means
proclaimed, held on means to have kepl in one's
grasp. Only held up (steal using viclence) is
sufable here, Choice (B)

Directions for guestions from 157 to 161:

Read the passage carefully and choose the correct

answer to each question cut of the four alternatives
and fill inthe blanks

Passage (Five Questions)

How the domestication of animals began is not
known. Perhaps, there were large numbers of
animals in areas near water whare men also were (I}
Here man could chserve the animals and study their
habits, and this knowledge most have, (i} him 1o
tame them. It was again, easy for an (iii} people to
domesticate animals and feed them on the husks of
the grain that were left after threshing. In any event,
sheep and goats, pige and cattle and |ater horses and
asses were lamed and kept in pens. Man, thus, {ivh
food from the soil and also from animals. |n the pens,
the animals could be cbserved even more cosely.
Calves suckling milk must have given man the idea
that he too could get food other than meat from cows
and goals. This praclice which combines agrculture
with the raising of animals is known as (v) farming
Animals, however, were chiefly used to provide meat
and milk, they were yet fo be used as beasts of
burden or to do draw the plough

157. (il =7
(&) farming (B rural
(C) business (0 agricultural
Solution:

Only "agricultural” is appropriate in this bank, as
‘threshing' is done by those engaged in
agricuture. ‘Farming is not suitable as the blank

iz preceded by "an’. Choice (O
158. V) =7

[A) mixed (B) joined

(S} wnited (¥ blended

Solution:

Mived farming is an agrarian system that mixes

argble farming with the raising of livestock

contemporaneausly. The only choice is Choice

il Choice (&)
169. =7

{A) amassed

{C) concentrated

(B} intensified
(D) strengthened

Solution:

The statement (s about large animals present
were men were "also” in large numbers. Only
Choice (T} (concentrated - present in high

proportion) is sutable Choicz ()
180. (v) =7

(&) gained (B} obtained

{C) achieved {0} attained

Solution:

Food from the soil and animals can only be
ocbtained (got from). Aftain means fo get
something as a resull of working for it

Choice (B)



161.

=7

(&) rendered (B) modified
{C) enabled (DY authorsed
Solution:

The knowledge about animals gave men the
ability to tame them, Hence Choice (C)
Choice (C)

Directions for questions from 162 to 171:

In the following Ten questions, four alternatives are
given for the |diom'phrase undedined In the sentence.
Choose the alternative which best expresses the
meaning of the [diom'phrase and mark it in the
Answer Sheet

162

163,

164,

165.

He was punished for tlaking French leave.
(A} giving lame excuse

(B} leaving without intimation
(C) being absent without permission
(D) resigning withouwt giving notice

Solution:
French leave means an abrupt deparure, or
being absent without approval (B and C).But
sinoe we have to replace the phrase “taking
French leave®, the better option is &

Choice (Z)

If the speaker continues with his boring speech,
the audience will probably vote with their feet
(A} choose him as leader

(B} Eick him out

(G) stop him from speaking

(0} show their dizapproval

Solution:

Vote with the feet means o express one's
dissatisfaction with somelhing by leaving,
especially by walking away. Chaoice (D)

Shyam Prasad was a chip off the old Dlock,
(&) a common boy of the locality

(B} an expenenced old man

(C) a being of the old generation

(D) someone similar in character to one's father

Solutlon:

Chip off the old block is a person (usually a
male} who behaves in the same way as his
father, or resembles his father, Choice (D)

Russel Pelars really brought the house down
with his spectacular performance at the Club

yesterday

(&) amused the audience greatly
(B} defamed a family

(G} pulled down a bulding

(0¥ passed a bill unanimously

Solution:

Bring the house down meanz to make an

audience laugh or applaud very enthusiastically.
Choice ()

166. My father is undoubledly an armchair crific.

{A) someone who gives advice based on
practice not theory

{B) someona who never gives advice

{C} someone who gives advice based on theory
not practice

{0} someone who gwves advice based on
experance

Solution:

An armchair critic s someone who offers advice

but never shows that they could actually do any

bettar, The closes! correct answer is Shaoice {3
Choice (T

187. Sunil's dog in a manger affitude did not help to

seftle the matter

(A} warm (B) selfish
{C) cold {0 salfiess
Solution:

A dog in the manger is a person wha prevents
othars from having or using things even though
he or she does not need them. The closest
choice is Choice (B). Choice (B)

168. He worked hard to feather his nest,

[A) decorate his home

(B} be envy of others

(C) trap birds

{0} provide for his own needs

Solution:
To teather one's nest means to look after one's
own inferasts, Choice (D)

169, | threw up my cards forwant of funds

(&) gambled all my monay

(B} gave up my plan

{C) put my whole income at stake
{0} looked out for help

Solution:
Throw up the cards means to give in or to
confess defeat. Chaoice (B)

170. He advised her to give g wide berth ta malicious

pecple,

{A) give a larger bed to
(B} tostay away fram

{C}) share her seat with
{0} pay more attention io

Solution:
To gve a wide berth means fo steer clear of.

GChoice (B}

171. Tripti gave her report quoling chapler and verse.

(&) provided minute details
(B} spoke like a preacher

(C) referred fo religious books
([ taught like a teacher

Solution:

Quoting chapler and verse means very
specifically detailed, in reference fo sources of
information. Cholce [(A)



Directions for questions from 172 ta 174:

In the following Three questions, four words are given
in each guestion, oul of which only one word s
correcly spell. Find the correctly spelt word and mark
your answear in the Answer Sheet,

172, Find the correclly spell words,

(&) Reffreshar (B) Curiculum

(&) Professor (D) Aggreable

Solutlon:

Refresher, Curriculum, Agreeable are the

correct spellings. Choice (C)
173. Find the correctly speli word.

(A} Migardy (B) Emminent

{C) Magnificent (D) Muisence

Solutlon:

Miggardly, Eminent, Muisance are the correct

spellings Choice (G
174, Find the correctly spelt word

(A} Fascination (B) Vindicasion

{C) Assemilation (0} Compitation

Solution:

Vindication, Assimilation, Compilaticn'Compettion
are the correct spellings. Choice (A)

Directions for questions from 175 ta 177
In the following Three guestion, choose the word

opposite in meaning to the given words and mark it in
the Answer Sheet.

175, Minuscule
(A} Impressive (B) Minulte
(G) Massiva (O} Menial
Solutlon:
Minuscule means finy. Antonym is massive.
Choice (G
176. Profound
(A} Superficial {B) Large
(C) Less (0) Spacial
Solution:
Profound means intense or insightf. Superficial
is the antonym. Chaoioe (A)
177. Wary
(A} Free {B) Careless
(C) Walchful (D) Kind
Solution:
Wary means to be careful Ghoice (B)

Direclions for guestions 178 fo 182;

Read the passage carefully and choose the best
answer to each question out of the four alternatives

Passage (Five Questions)

The field of medicine forces a confrontafion between
scientific and everyday language. Outside the word

of the rezearch laberatory and clinie, there exists the
daily rowutine of medical praclice, a situation where a
doctor fries to undersiand the problems of a patient,
and the patient attempts fo understand the doclor's
diagnosis. The initial statement of the symploms of
any disease is of critical importance as it guides the
doctor's search for the clinical signs of the condition
Similarly, the doclor's explanation of a problem, and
the recommendatlions for trealment, is need to be
cear and complete if the patient io understand and
follow the correct course of action.

The need for careful listening and expression by both
parties should be obvious In a field as sensitive and
zsefous as health Patients worried about their health
are often uncerain and confused in their accounis.
Busy doctors will not have the time to take up every
point the patent has referred to. Moreover, the
tradiion of medical iMerdewing hinders  the
development of a genuing communication.

178, The waord ‘confrontalion’ is closest in meaning
to

{A) compeiition {B) confluence
{C} trouble {0 conflict
Solution:

Confluence {an act or procass of merging).and
trouble ean be rled out, as they dom't relate 1o
the context. Gompetition is a contest, whereas
conflict is a dash orvardanca, The passage talks
about this contrast between scentific and
everyday language. Hence Cheice (D)
Choice (D)
179. Which of the tollowing statements is true?
{A) Doctors shoud usze medical terms in their
instruciions as these are specific.
{B) Medcal communicalion is a specialized
branch of professional communication,
() Patients must learn medical terms.
{0} The patient’s relatives should be involved in
the interaction.

Solution:
Cplions A, © and D can be ruled out as these
are neither menticned in nor can be inferred
fram, the passage. For want of a betlar cholca,
Choice (B) can be chosen, but it is only a far-
tetched inferance. Choice (B)

180. Doctors are sometimes unable o treat the

patient properly becausa

(&) They do not have the time o consider every
point made by the patient

{B) They are too busy in performing surgeries.,

{C} They do not know the language used for
communicaling with patients

{0} They have a superiority complex.

Solution:
The passage prmarly discusses the
communication gap between a patient and a
doctor, Although Choice (A) may seem a close
answer, |t isnt, because it is the busy dociors
wha do not have time, not all doclors

Choloa (G)



181. Which of the following statementis best reflects

the theme of the passage?

(A) Commurnication should nol be made a
component of medical educafion.

(B) For proper treatment, patients should listen
carefully to the instructions.

{C) There must be little research in the field of
doctor-patient interaction,

(0} Medcal profession reguires a careful use of
medical and evaryday language.

Solutlon:

The passage discusses the need for effective
communication between doctors and palients.
Hence Cholze (D) Cholca (O}

182, Palierts are often unable fo give a proper

accourt of their ailment io the docior because

(&) they do not know how to communicate in
medical terms

(B) they are worried about thair health.

{C) they wanl fo hide cerdain symplomz of the
disease.

{0} they have an inferorty complex.

Solution:

The third line in the second paragraph says that

patients who are worred about their health are

confused in their accounts, Hence, Choice (B)
Choice (B)

Direclions for guestions from 183 o 185;

In the following Three guestions, out of the four
alternatives, choose the one which best expresses
the meaning of the gwven word and mark it in the
Answer Sheet

183. \Viable
[A) Capadle
(B) Useless
(G} Workable
(D) Bright

Solutlon:
Viable means capable of working successtully.
Hence Cheice () Choice (Z)

184, Sinuous
(&) Serene
(B} Straight
(C) Sempentine
(D) Transparent

Solution:

Sinuous means winding Hence Choice (S}
Choice (Z)

185. Eroneous
(&) Wrong
(G} False

(B) Unfair
(D) Inaccurate

Solution:
Eroneous means incorrect.
Choice [A)

Directions for questions from 186 to 190:

Read the passage carefully and choose the best
answer o each question ouf of the four aliernatives.

Passage (Five Questions)

If a country should have 8 message for its people, it
should be a message of human dignity. The ideals of
a nalion should be of the freedom of ideas, speech,
press, the rnght to assemble and the rght o worship.
A country should beldly proclaim o a world
dominated by fyranis that “all men are created equal
and they are endowed by their Creator with certain
inalignable righls” and "among these are life, liberty,
and the pursuit of happiness®. This shoud be the
source of the strength and power of a nation. If
pecple have the freedom fo live their lives in dignity,
they can work with a sound mind and physical health,
The moral, political, and economic stature of a
country lies in the strength of its pecple. A nation
should stive to be a more perfec!, not the perfecl
country where the people are given a promise and a
hope in their minds to work and chersh liberty,
Justice, and opportunity. We do not always get what
we want when we want it but it is always better to
believe thal someday somehow, someway, we wil
get what we want.

186. "Life, liberty, and the pursuit of happiness® are:
(&) Gifts of our Greator
(B Pillars of equality
(C) kdeal= of a nation
(O} Rights of all man

Solution:

"Among these” in line 9 refers o the unalienable
rightz of all mamentioned prior 1o that Hence
Choice (D) Choice (D)

187. The scurce of the sirength and power of a
nation depends on
(&) freedom of the pecple
(B) ils people.
(G} the physical health of the people.
(D) nghis of the people.

Solution:

The unalienable rights that include freedom (and
equality) should be the source of strength and
power to a nation. Choice (DY)

188, Cilizens of a couniry should work and cherish

[A) love
(B} liperty, justice and apporiunity

5} liperty and happiness
(D) opportunity and justice

Solution:

The grammatical error in the passage in fact
makes this gueston incorrect. But assuming
that it iz about what the citizens chersh, the

answer is Choce (B). Choice (B)



189, The passage leads the reader to think about:
(&) Ruling nation
(B} What a couniry needs
[C) The Rights of the people
(D% The morals of a nafion

Solutlon:

The passage discusses the rights of the people
and the relevance of those rghts for an ideal
country. Ghoice (B) Cholce (B)

190. The ending part of the passages is about

A} Hope (B) Want
(C) Perfection (D) A promise
Solutlon:

The passage ends in an oplimistic tone, urging
us to have faith and hope. Choice (&)
Choice (A)

Directions for guestions 191 to 195:

Bead the passage carefully and choose the best
answer to each question out of the four alternatives.

Passage (Five Questions)

The word is becoming a dangerous place to live in,
and this is despite our claims of being civilized, of
having evalved from the paimitive to the modern man
and from the cave man o cultured being

Many reasons can be attributed to this. A man longs
fo be the king of all Kngdoms, but is too extravagant
and ide. He desires that his writ should run through
the whole world. But then he is lazy and lethargic
Man iz mean, far inferior to other species. We are
more  human than hamane. We have negative
qualities such as anger, ego, emy, greed, hatred, and
jealously, that we should consider overcoming.

We have allowed these qualiies to become cwr
consuming passions. We think that we are mightier
than most We think we are capable of destroving
anything by usimg our might. Today, we have
acqured weapons of mass destruction, which are
capable of cbliterating all life from the fage of this
planet,

A= men we arm men. Then we destroy pecple without
arms. Then why are we giving vent o this anger? We
let our wrath take over cur senses. 'We fight fo safisty
our egos, The overpowering obsession of a man with
himself motivates him to grab everything and fo fulfil
his greed.

191. Why has the word became a dangercus place

folive in?

(&) Because man has evolved from primitive fo
modearn.

(B) Because man has become civilized.

(C) Because man desires to be king of all
kingdoms but is idle and extravagant

(D) Because man has become a culiured being.

Solution:

The second sentence of the second para states
the reasons attnbulable to the world becoming a
dangerous place. Choice ()

192. What are the qualities that have become man's
CONsUming passion?
{A) |dleness and laziness
{B)} Anger, ego, greed,
|ealousy
{C) The desire tobe king
(M Laziness and lethargy

envy, hatred and

Solution:

The last line of the second para dearly stales
that anger, ego, emnwvy, greed, and jealousy have
become our consuming passions. Hence Cholce
B Cheoice (B)

183, Whal does man think of imself today?
(&) That he is more humane than human
{B) That he is mightier than most.
{Z) That he can rule the world
{0} That he can be king of all kingdoms.

Solution:

The second sentence of the third para states
that we think we are mightier than most. Choice
(B Choice (B)

194, What is man capable of achieving today?
(A) The power to conguer the world
{B} The power to obliterate life from this planet.
{G) The ability to destroy everything
(0¥} The ability to have his writ run through the
whole world

Solutlon:
The last santence of the third para sates that we
are capable of ooliterating al life from this planet
with cur weapons of mass destruction.

Choice (B)

Cheice (B)

185. Give the antenym of "Obliterate”,
(&) Prevent (B} Erase
(C) Destroy (DY Greate

Solution:
Chliterate means fo wipe out. Hence Ghoice {0}
Cholce (Y

Directions for questions 196 to 200

Read the passage carefully and choose the best
answar o each question of the four alternatives.
Passage (Five Questions)

The question of race has caused bloodbaths
throughout history, Take the case of the MNegro, a
negro is somecne with black skin who comes from
Africa. It is an old-fashioned word and is offensive.
Some people used to write that way delicerately. The
word “nigger” is also very offensive. The word was
later replaced by “coloured” which gave way io
“black®, Black s a colour with negative suggestions



So we have expressions like “black deed’, “black day”

and

"Dlackmail’. 5o no wonder the word "Dlack” oo

assumed unfavourable meanings. (Although in the
18€0's the famous slogan 'Black is beautiful’ was
coined, and it did not help). The Blacks of the United
States therefore came to be called Afro-Americans.

Mow, the politically correct phrase is  African
Amarican,
196. Which word is dd-fashioned and offensive?
{A) Skin (B} Megro (C) Africa (D) Black
Solution:
Refer the second and third sentances. Choice
(B Choice (B)
197. Which impresszion does the word black” carry?

198.

{A) All of the above
(G} Unfavourable

(B} Contemplible
(D) Megative

Solutlon:
The word black carries negative impressions,
and the use of terms like black day, and black

deed giwe it cleardy contemptible and
unfavourable connotations, Ghoica (&)
Choice (A)

Which is the polifically correct phrase?
(&) Coloured (B) African American
(G} Migger (D) Afro-American

195,

200.

Solution:
The last line of the passage clearly indcates
Cholce (B) Ghoice (B)

Why was ‘Black is beautiful” coined?

{A) To combal the pre-judiced feelings against
the Blacks

(B} Toencourage Racal and Casle bias

(C) To enhance the confidence of abodiginals

(DY To discourage negro slavery system

Solution:

"t did not help” stated inthe third last semence
indicates that the phrase was coined to remove
the prejudice. Hence Choice (&)  Choice (A)

Give the synonym of "CHensive”.
(&) Courlecus (B) Aggressive
[C) Sympathetic (D) Detending

Solutlon:
Oifensive in this comtext means uncivil. The only
oplion we can choose is Choice (B).

Choice (B)



